(BlZ& 1)
REEZEVORIDMESHERFD YR +
(FHMI8F4R22H 2AK) FTHIF4A1BEHIDKER

¥ IEEaE] RY IMEREORRE] HoOldk,. SM2EERICHERENTET LEERZETT.

x TMtEMkeE] #WIZ Tdl EHBDIE. *LLﬁml&uffmﬁiéT%H#muJ_aéTto
AEEIX, TRKEFEOWEZHEMEAE] EIEZEA BARBEHEKGS) ITEOVWTHY., MEZSHEROEHFIZEWVNT. Tdl SU708HITZDI
NtEE (RC, S) MDDFUYIZEATLS,

X BTEEEY B «HNIBEEEEYWERT.

X R MNYRPOIEERZEZ (T, BEPEADOMTESREE (XRIIZ. MEEBEYME L THRZET H5E807H 5,

¥ SEOARICHIT., RIEHDEENRFH. BEHLAMEORIEBEE ZRITDFERICHH TS,

X EKAREREMFIL. RAITERELRENEZTHERLTLS,

<L hEHFERER ETR>

< T&E>
<L
e | EE . ez o e om & | me |BL| EX | BE | @EE "e% | nr i
g% S BX RX =| BE Ipes | miE | s DIRR %s[éia\ EEY K
X 73
1189 [faEE |LbhEaRFe Wh=m| S 49 RC 4] 5,662] A |H28KIE a1 *
1190 H%ﬁrs WhEERTS B Wh=m| S 49 RC 3 1,932 A |Ho8={E a1 *
1191 |[B%BH [LVbhEERFE HE Wh=m| S 48 S 2| 1,350 D= A [R2KE al
1192 [fa&q [LWh=aRFE NE Wh=m| S 62 S 2 180| i = a1
1193 |[®eEus ;B EAAAT EXEE] WhEm| H 29 RC 2 169| Frifit = b I
1194 |weeeu s JERSEHARAT —ERER Wh=m| H 29 W 1 576] TE b 10
1195 [ RE  |/NBEBEEREHRMN Wwhat| H 27 RC 3 1,279 #FHmE all *
1196 [£ K& [IELKEHM Wh=m| S 56 RC 2 907 A i
1197 [ERAB|VbHEFLERE XTE Wh=wm| S 45 RC 3] 3.498] A |HI9~20K(E a1 *
1198 |ZRXRIp(LVHEhRERE RTE Wh=t| H 14 RC 3| 1,555 FifitE al *
1199 [ERAXB|ILVHETFERE WhZEm| S 59 RC 3| 2, 254| FifitE al *
1200 |[ZERAIDB|VHhEHERE HE WhE| S 59 S 2 370| Fhrifit = al
1201 =$2<ﬁrs LWhEMmERE Wh=| S 63 RC 3| 2,149 #FimtE al *
1202 [ZEAR | VhEhRERE BESTE WhEm| H 11 RC 3 723| FHE al
<>
<<
iz | B2 T e | mEm BB F | mE | oy | TR | HE | WERS s | %
%H 0E ; ; | TE s mRE | e DR %%T%\ Y R
X 73
1203 [HEBEF [BRHEK REE Wh=m| S 42 S 1| 1,681] A |H262/B b 1 *
1204 |&EF *ﬂ%skm's*z 35 Wh=mh| S 44 45 S 1 7700 A b II
1205 [BET |EBHEK SRS ER Wh=at| S 51 RC 3] 1,892 A b I *
1206 |HEF [BRHEK L BHEER Wh=m|S 52 RC 3 2,914 A b II *
1207 |HET  [BHEK EYERT WhE| S 52 RC 2 79 A b II
1208 [&BEF [BHEK SR Wh=t| S 53 54 RC 3] 3.780] B b II *
1200 |Z%BF |BHaK 20 Wh=m| S 54 RC 2 378 A b II
1210 | BT [BEEK KELE WbhZEm| H 2 RC 2| 1,467 FimtE b II *
1211 [BBEF [BEER EE Wh=| H 6 RC 1 225 T E b II
1212 |%&RF ﬂ%ﬁﬁz&ﬁ&%& BER Wh=| S 43 RC 4 3,238] A |H23H(E b II *
1213 |BBEF [BREIAESR EYRTI WhEH[ S 43 RC 3 M8 A [H2THIE b II
1214 | BEF |[BEEIAESE G- ERBER|HhET|] S 42 43 RC 3| 2,974 A |H24eKiE b II *
1215 [&BERF [BREIAEESR EYE T2 WhEH[ S 43 RC 3 642 A |H26TKIE b II
1216 |ZET [BEELESK H=E WhEm| S 57 RC 2 168| #hild = b I
1217 |BET  [BEEIAESK SEE Wh=th| S 58 RC 2 451| I E b Il
1218 [%&&FT ﬁébﬁkz D E SR A Wh=w| H 4 SRC 2] 1,469 T E b I *
1219 [#&EF [BEEISESRK AEEE?2 Wh=w| H 13 RC+S 2| 1,756] FmE b I *
1220 |%BF [FIZaK EEET Wh=h| S 44 RC 3 1,490 A |H28ERIE b II *
1221 [&BEF [FIEsR EEE Wbh=m| S 45 RC 2 486] A b II
1222 [&BF [FIEsR B~ Wh=m| S 45 RC 2 184 A b II
1223 |B&F |[FIEZEsK ESEY Wbh=m|S 45 RC 3 2,023 A |H28=%(E b II *
1224 |%BF [FIESR T BB =R Wh=m| S 45 RC 3 1,413 A [H2THiE b II *
1225 |[&%&F [FIEsi IV Wh=| S 46 RC 3] 1,283 A |H24ekiE b II *
1226 |BBF |[FIZaK EIEE3 Wh=m| S 46 RC 2 380 A |H28=%(E b II
1227 |BEB&F |[FIEZsK T BHER2 Wh=m| S 46 RC 3] 1,271 A |H28=H{IE b II *
1228 |H%AEF |[EIZsHK 2E-BHRETE|LVHhET| S 46 RC 3| 1,999 A |H25zkis b II *
1229 [&&F [FIEai EHESHI Wh=m| S 46 RC 3 2,192 A [H28=%(E b II *
1230 [HBT |FIXEK HBHETE2 Wbh=t| S 46 RC 2 386 A b II
1231 |BBF |[FIZakk e Wh=m| S 46 S 1 689 A |H28THKIE b II
1232 [&BRF [FIEsRK A Wh=m| S 47 S 11 1.769] A |H24kiE b I *
1233 |%EBRF [FIEZEsK EBURTI WhEH[ S 47 S 2 M A |H22EkE b II
1234 |HZET |[FIXEK BEMmERE [\VbhEh| S 47 RC 2] 1,493 A b Il *
1235 [BET |FIESK TREEH WhE| S 47 RC 2] 1,657] B b I *
1236 [&BF [FIER EYET2 Wh=m| S 47 RC 2 125] A b II
1237 |BEBF |[FIEZsK S Wh=| S 48 S 2 351 A |H23chiE b II
1238 [&BEF [FIEsHK RS Wh=mh| S 48 S 1 350 A b I
1239 |&EF [FIEak EURTS Wh=m| S 56 S 2 115] A |H22cE b II
1240 |BEBEF [FIEZsK EYET4 Wh=H| S 56 S 2 308 A |H22ekfE b II
1241 [BEBF [FIZEsK EEE2 Wh=H| H 6 RC 1 225| FE b II
1242 BB [FIZEaiK REE Wh=m|H 8 SRC 1 897| Tt = b I
1243 | BEBF |[FBEaK IR Wh=m| H 29 RC 3| 3 719 FWE *
1244 |%BF |[FEESR BERI Wh=| S 38 RC 3] 1,816] A [H26eK(E b II *
1245 [&BEF [FEESRK HEE?2 Wh=t| S 38 RC 3| 1,242] A |H26ek{E b II *
1246 [&BF |[FEESRK BURT Wh=m| S 41 RC 2 135] A |H27chiE b II
1247 [%BF |[FEESR EREBEYERT |Wh=t| S 41 RC 2 274 A b II
1248 [&BEF [FEESRK FE3R Wbh=m| S 41 S 1 355 A |H28EHIE b II
1249 [HEBET |FEESK RIS ER Wwhzmh| S 41 S 1 302 A [H232khiE b I
1250 |BEBEF |[FBEaK 50O Wh=| S 41 S 2 248 A |H21ekfE b II
1251 |&%EBEF |[FEEaRK ABEE Wh=| S 41 S 1| 1.354] A |H28KiE b I *
1252 |&%EF |[FEEaRK ZRE15 Wh=w| S 45 S 1 404 A b I
1253 |BEF |[FBEaK ERKRE WhEH[ S 50 RC 3 675| A b II
1254 |%EBF |[FBEaRK ETES WhEm[ S 59 RC 2 846| FTmE b II

1/4




i

RS | e
SE | g 4
22 | #5 EEs e (B B F OE| WG | by ok | MR mEEE ) 22
1255 |#BT |[E = = Ed-t2 DR EEY)
1256 [HER :—r\%?ﬁ*ﬁ = i1 Dh=m| A b __ DR 5
57 1HAr Tobebant BIEEREE [ D] S 40 S 11 9725 51
755 [HER [obshasi BEk LhEmm| H 27 R 3| 371 A _|Ho8ehiEE b 1
1250 |%ES L\,,)%“/“\Z'Z.f B Y BT =] S 40 R 4| 4, 784) Hiifi oI
260 [HER [ hekash HEE LNhE| S 42 S 2 a3 A 2o
26 HEF OhsRash i L= S 46 : 1 1,491 A |Hi4ekE b T
1260 |BER L\og;;;'_’fé B Wh=m| H_1 SRC 1 St A [H28TE b I
1263 &= m LS w®E b= 1 892 #rifif
BET |[VbhERFER R peml i 16 RC+S 3] 9, 174] 3 o1
1200 ZEIT SRS REET SpEas s RC+S |21 2,570] & 2
.* - -’) Il 2 ¥
1766 i’;iﬁ Z.’_K'_’_’i BRI B =] L\;gg% g 39 RC 3 1,994 A [H25H(E b I *
B | BAEK e petm) S 4l RC 3 2075 A |Hbm&iE b II *
1267 |®&ET 575',—2:,—,'5*& GE WhEh| S 42 RC AT A e b I *
= [BASIA VhE| S : z
1270 ?&%ﬁ ’,”_’;_;:—Zi’i BARER.  [WhEM] S 2(7) RSC [ 312 A S
271 AERE [BAER BAIBEM3  [Lh=Em| S 59 3 723 A [Hi4dkiE b
077 BEE B ESE A5 Wb H 2 = 4 1, 440] S o 1
AT Tl RABERI [ bEm| S 4 . 11 802 ZiiHE o
1774 REE M aEBE BEAEM [ hEm| S 42 R 31,971 A [H5&E b1
1275 [HEE | NBRER EJEE WhET| § 42 RC S| 2.859] A |H24afE b I
1276 [BER NG ERER EALEY=T Lh=ih] S 42 S 2] 23] A o
1277 BB E /J\%ZI‘E‘E ﬁi’:"]%f?ﬁiz W H=T| S 46 RC ; 2258 A [H27ekiE b I
1278 |[#%BEF |2 sk *ﬁ%{ﬁ} _ =T S 48 S 2 1.260 A [HI8HKIE -
1219 |BERF | &EEk FHAEE  [LoEm S 60 RC 05 BT -
1280 [BBEE [Wh=5ESR AL ;ﬁﬁ WhEmm| H 15 S i 780 %ﬁ%i_ b1
28 BEE [ohsherk = t:‘ogﬁ S 53 RC 3. a0 A [TARE o
nsm 54 : Z b I
1282 |#HBF |LWbhEBESHK o L RC 4 , 935 A |H242/iE b1l
1 _ =X REE - 8835 (LhEmW| H 26 RC+S 2
283 #ﬁiﬁ: L‘b%lﬁiﬁ*)& HEEES - — , 638| #rifif b1
1284 |BES |EREEER KBt Wi H 26 RC T
1285 |BER |EmnEEek g t"°§§§ S 47 S T T047[ A [HIoHE b I
N et AP H 27 ' Z b I
1286 [MEF |BEEEHR BES - BRR bz 127 O B B o > 1
S 2 692 %
1287 |mErE (= i I
12 iﬁ BHRERR BRMERER |LvhEM|H 27 s
e hE e en ETHEE hEm[S 3 H I Ll o 1
z =457 R 1 1
1290 [AER 2;251‘ SUABER WhE| S 45 S e b 1
1791 [HEE |DEEk SEHER  [Lbh=m| S 46 1| 1.346] A Haddifs b I
1507 B %’f—ﬁifﬁ BRI L= S 52 RC 3 2.466] A [H19%E T
P L GANUEL T EY BT LhEd| S 56 e 392 A b 1
FME AT 3% 15 ] LhEM[ S b7 RCpa I A b T
1905 HERF kT EEiE R Wh=Eih| H 26 RCSS 3,340 A _[H24%kfE b I
1996 |22 DR mix Bii5 =T 4 4 410[ FWE
1297 %iﬁ AXRLEEH e Sh=Th g g; S i 310 A >
e = o : r II
795 e [T an Ry NHEH[ S 57 o LB B b T
1300 |#ET | mkIEmk ZUpTS WhEm| H_9 3 3| o0l it b I
1301 |BEBF %;EI%E’_,;? A BE IR AR Wh=Em[H 9 RC 3 90| #ifit = s
1302 |ZBRF |73 tI%'E’i‘ b B iR 1R b= H 10 R 4 , 138 #hi = b T
1303 |%BR /,7]7 I%'_”‘i‘ E2AFEE Wh=w| H 11 Rg 1 505 T E b II
1304 %3 X - SL¥ FIAXEEE Wh=t| H 1 893| HiH =
130¢ WE RS KERE R S |2 T.4%|#iie o
1306 [HER pHEL RRiE 15 T[S 42 : 1] 1,170] A [H24ak{& T
1307 [HER AL SEaeE  lhpeas 5 S i 350 A 3 .
08 e E et RBME NhEH[ S 43 RC_[ 3] 4204 A THoeie b T
120 [HET |mBER Z8EE _ [LhEm S b S Y B NN 72 ™
310 HE T maER EEZER b= S i 350 A
ZEF |[HESRK —— — hEm| S 58 RC 33 b I
1311 _|BEL _|[Hesk T B ER | hEh] S 4] o . 150] iy bl | =
B [SEF [mask EEBRLER [ VhEm| S 48 = 3| 24821 A [HidgfE o T | *
3 1HEE (me ok g;ﬁ;g LWhEmm| S 55 S R H18E& & oI |
1314 _|BBF |mask e LWhETh[ S 56 S i 350 ﬁ H26TE b1 | ¥
1315 _|%&EF |mASK = WhEm| S 58 RC b I
1318 |5%& == .Z s B WhETh ' A |H2824E
1379 BET LWheZOHBR hELE ChEh S 49 RC A 740] A |H26kiE o
BET |LWbhEEoHEK et L\—?ﬁé% ﬁ 477 S 1 894| A 3 Eﬁ
1320 [HBF |LWhEZRoiEK Efi-fﬁm%@ bEml H 26 RS 1 350] it o -
0 |BEE [V hEXEER WER \ S L bl b T
1322 |KEF |WhERESE whEM S 60 RC |2l 714/ mim
R EHAEESER | WVhET| S 61 RC ) ool s b I
1323 |%& g :
BEF |LbhEXESR RS b | il
1324 _|B& = 3 SC =
BT [LWhEXEFh FETE bER 2| 1,467 #iHE bl |
1325 |BEF |[TxErh L Nh=m| A 14 RC 2] 1,364 il
1326 |HBF |EXIE=RK ‘f=1(—,ﬁﬂ) Wh=m| H 18 RC:S : i b 1 ”
AR s SaEE T LT QREL—H) _|[WhEm 3| 4, 991] il
E s e = hb=m| H 18 b I *
BT |FXEPR e (—5) e RC+S 3|3, 845| #mt
I eSSt 8 Wh=d| H 19 RC ARPIDE 5 bl 1 *
1329 |[%BF |REXIEZRER AEEE WhEm| H 19 : AT b II *
e X IEFRER AT RC+S 3 1912 #HmiE
1330 |#BT [BEXEPRIR %5('5?‘ Eix WhET| S 41 W 5 785 : b I *
1331 [ZBFT |BEXEFRIER ;’,Eﬁ WhEd| S 42 W 5 A [H27eE b I
847 A _|HD&iE T




<Z D>

[y
R3 s - = -
I\ =i =n = =n e w | HiE HEPR it == it &= & BE HiE
2% | wm B "a Pt B OB OF R WS py| mw | e | owm  |REw|emm| W

DEH
1332 |@f%ed |AMb S v FNE —RBAE Wh=m| S 49 RC A 1.244 A ¥
1333 [78 |ABXFELS Wh=mh| S 56 RC 6| 1,711 A |H30&E *
1334 |eEmEs 5 < L Em Pt AR W= H_ 11 SRC 4] 12. 935 T "
1335 |emaes |5 < L imiE et v z><  [WhEmh| H 2] S 1] 1,266 Friite *

<L 4= m

1336 |mmemy | P TERETRE (B8 WhEf| H 9 RC | 2| 72| mEE al
1337 |XARED |PHAHM A2 WhET| S 62 RC 4] 1,805| Fiit i *
1338 |TAE |[PAAHM A3 Wh=m| S 63 RC A1, 7% FE ¥
1339 |+ ARER |chehds Mt R4 WhE| S 63 RC A1, 794 it E *
1340 | RER [P HM h# A5 Wh=Et|H 1 RC AT 1, 196| i E "
1341 [TAE [PAAHHE A6 Wh=|H 2 RC A 1,222 gt E "
1342 |TAE |[DEaEM AT Wh=| H_2 RC 3 1. 373 Him e *
1343 [T RS [PAAHM FRAS Wh=| H_2 RC 3 1. 373 HimE *
1344 |TXE |7 EEH BrE] Wh=t| S 46 RC 5 1,405 A *
1345 [T A& |7 EMH By 8 Wh=h| S 45 RC 5 1,348 A *
1346 [T AES |mvEMH &1 Wh=| H_6 RC A 1,382 e *
1347 |XAE [/ R 52 Wh=h| H_7 RC 6] 2,312 FiiE *
1348 |£AKE [/ R i3 Wh=i| H 8 RC 4 2, 144 FimtE *
1349 |[£AES [mVEMH EPHT Wh=m|H 7 RC A 1,971 HmE *
1350 |£AE [V EHH &5 Wh=h| H_9 RC 4] 2,004| Fift = *
1351 |[EAER [HEMM rtE Wh=m| S 49 RC 5 1,699 A *
1352 |t AE |HEAHH 2 Wh=h| S 49 RC 5| 2.266] A *
1353 |t AZ [HEAMHM 3 Wh=| S 49 RC 5 2,266 A *
1354 |EAE [HEMM T4 Wh=m| S 49 RC 5 2.3%5 A *
1355 |tAED [MEMH 5 Wh=m| S 49 RC 5 2,395 A *
1356 |t AZ |[HEAMHM 6 Wh=| S 49 RC 5 1,796 A *
1357 |LASS |[MEHM® 7 Wh=h| S 50 RC 5 1,892 A *
1358 |[EAER [HEMM rtEg Wh=mh[ S 50 RC 5 1,892 A *
1350 |LAS |=xEH =21 Wh=m| H 15 RC 3 1,285 Fi e *
1360 [T AER |=RMEM BRI Wh=h| S b1 RC 5| 2,642 A *
1361 [+ ARE [EREHE =iR2 WbhEm [ H 28 RC Al 2,563 Fi= *
1362 [T AES |=RMEM ER3 WhE | H_28 RC 4 2. 563 FiE *
1363 |[EAES [fuLFH Bl Wh=m| S bl RC 5 2,531 A *
1364 |[LAER [#LFH b2 Wh=h| S b1 RC 5 2,531 A *
1365 |EAER [fkLMH #ul3 Wh=mh| S bl RC 5 2531 A *
1366 |t AED |fEElT M0 HIEEET | Wh=| H_6 RC 3| 1,366 e *
1367 |LAER |#IEEETH M I EEET 2 Wh=h| H_9 RC 3 1,520 gt *
1368 |[LAER [LLBMH tE1 Wh=mh| S 55 RC 3 1.209] A *
1369 [T AES [LEBMH B2 Wh=m| S 55 RC 3 1,209 A *
1370 LA [LLBHH B3 Wh=h| S 55 RC 3 1,209 A *
1371 |[£AE [LEBMH B4 Wh=| S 55 RC 3 1,209 A *
1372 |EAES [LEBMH LB Wh=h| S 55 RC 3 1,288 A *
1373 |LAS [LLBHH Lt 56 Wh=t| S 55 RC 3 1,288 A *
1374 |EAXE LB BT WhEmh[ S 55 RC 3 1,288 A *
1375 |EAE |@EM iR 6 Wh=| S 58 RC 4 1, 176| Fim *
1376 |+ ARE  |fxk b fm b 9 LWhZEm[ S 59 RC 3] 1,323 FhiE *
1377 |LAE |@EMMH fEm10 Wh=h| S 60 RC 3 1,362 FiitE *
1378 |4 [SiRFEHM =R Wh=|H 8 RC 3 1,322 &t *
1379 |T A |=iRmEn =R7a2 W= H_10 RC 3 1. 317 Fi e *
1380 |[LAES |[=mMM® =1 Wh=| S 59 RC 3 1,323 FimE *
1381 [T AE |[=mMM =2 WHh=mh[ S 60 RC 3 1,138 Fnitim *
1382 |TAES |=mMMm =3 Wh=h| S 61 RC 3 1. 420 i *
1383 [T ARS8 |EJIHH EJII3 Wh=t| S 46 RC 5 1,422 A *
1384 |TAES |EJIMH EJIl4 Wh=h| S 44 RC 5 1,265 A *
1385 |[LAER |EJIMH EINE Wh=m| S 43 RC 5 1,265 A *
1386 [T AE [HESHH BRI Wh=t| S 48 RC 5 2,057 A *
1387 [TAE [FESHH BER2 Wh=m| S 48 RC 5 2,05/ A ¥
1388 |[EAE [BEASHM BEAS Wh=m| S 47 RC 52,004 A *
1389 |tAE |SEAMHM BEB4 Wh=mm| S 47 RC 52,004 A *
1390 [EAEH [FESHH AR 21 Wh=| H_12 RC 3 1,001 g *
1391 [TAEH [FESHH BEA2 WhE| H 12 RC 3 1,011 FimtE *
1392 |[£AE [BEAHM BEA23 Wh=m| H_14 RC 3 1, 118| Fhite *
1393 [EAE [HFESHH BEA2A Wh=h| H_26 RC 5|4 347 FiE "
1394 |TAES [BREM A Wh=h| H_ 11 W 3 1,179 Fit i *
1395 |[EAE [RERMHM Ak Wh=h| H_12 W 3 1,337 &t "
1396 |EAES [ERMEM R4 Wh=| H_13 W 3 1,690 Fimt e *
1397 L A& |[FEEMM 2R Wh=h|S 52 RC 5 2,686 A *
1398 |fA& |FEEMM 282 Wh=mh| S 52 RC 5| _2.686] A *
1399 £ A& |E2EMH 2R3 Wh=m| S 53 RC 5| 2,686 A *
1400 |[E A& |EZEMM FiEH4 Wh=t| S 52 RC 5 2,014 A *
1401 £ A& |[EZEMM 285 Wh=h| S 52 RC 5 2,014 A *
1402 |tX& |FEEMM 286 Wh=m| S 52 RC 5 2,014 A *
1403 |[£ A& |EZEMM 287 Wh=m| S 53 RC 5 2,014 A *
1404 [T A& |EZEMH 288 Wh=m| S 53 RC 5 2,014 A *
1405 |tAX& |FEEMM 289 Wh=m| S 53 RC 5 1,343 A *
1406 |TAES |E2EMH EZH10 Wh=m| S 54 RC 5 1,343 A *
1407 |[£AE [THEASHH TaRol Wh=h|S b4 RC 41,611 _A *
1408 [£X& |[THEAMHM THED? Wh=m|S b4 RC 4 1,611 A *
1409 [tX& [THEAMHM THEDS Wh=m| S 54 RC 1,611 _A *
1410 [£A%H [FTHESHH Tarad Wh=m| S b4 RC 41,074 _A *
1411 [TXE | FHEAFM TR EAD Wh=| S 54 RC 41,014 A *
1412 [£ARE [KEAHM KEAT Wh=ti| S 57 RC 3 1,323 Fii e *
1413 [T RE |[KEAHM KEA2 Wh=h| S 57 RC 3 1. 323 e *
1414 [£X& [FTHaaHMH a1 Wh=t| H 26 RC 5 2,500 Fiifit = *
1415 |[£AE [TaaHM T E2 Wh=i| H 26 RC 5 3,213 &t *
1416 |TAE |[TaEHM THE3 Wh=h| H_ 26 RC 5| 2.590| Fi e *
1417 [£AE [TaaHM Ta4 Wh=h| H_ 26 RC 5| 2,590 Fit = *
1418 [T AE [TaaHM T8 E5 Wh=| H_ 26 RC 5 1,801 &t *
1419 [£KE |[THEHM T 446 Wh=h| H_26 RC 51,891 Fi *
1420 |[EAER |FAmsmIH By Wh=| H_27 S 3 1,099 FHimt = *
1421 |TAES |MEfEH® B 2 Wh=h| H_27 S 3 1,002 Fit = *
1422 [T AES | KEMH KR Wh=m | H 28 RC 5 4 274 FifE *
1423 |EREF [PREH R WhEm | H 28 S 31, 458| Fiii = *

3/4




R3

i

& s - s = « |(HiE| FEERR | WE it 5= i BE | BE
2% | wm i wE | PER IR B R RS pw) mm | e | okw  |mEm|eEm|
il DES
1424 | LRSS |PlmMm FR2 Wh=m | H_28 S 3] 1,458 Fii o *
1425 |t XS |DEEM &3 Wh=t | H 28 S 3 1, 221 Tt *
1426 [T K& |hEHH &4 WbHh=EH| H 28 S 3 2 150| Zhif = "
1427 | £AER | A thR5 LWhEih | H 28 S 3| 1,896] #iliE x
1428 |£KRE |PEMEM R6 WhEt | H 29 S 3| 1,970] #imE ™
1429 |+ ARER | bR i hE7 LWhEm | H 29 S 3] 1,259 Fit e ”
1430 (X A& [JeiFmEMH AL AF R 1 b=t | H 29 RC 3| 1,557| HimE *
1431 (X A& [JeiFFEMH L7 RE2 WhEt | H 29 RC 3| 1.557| FimtE ¥
1432 |+ K& |JtiFhs JL 5783 WhEm [ H 29 RC 3| 1,557| #nimtE *
1433 [+ KRE [JeiFFEMHe JLE7RE4 WhEt [ 29 RC 3| 1,301 = ¥
1434 | K& |JtiFhs s AL #FFE5 LWhEm|H 29 RC 3| 1,507 FrimtE *
1435 [ ARER |JbiFREEH AL 4F e 6 LWhEm|H 29 RC 3] 1,816] FtE *
1436 [XAE [JciFmEMH JLEFRR7 Wh=th | H 29 RC 3| 1, 764| HimE ¥
1437 [XARE [JeiFmEMAH JLAFREs b=t | H 29 RC 3| 1,764 HimE *
1438 | K& |JtiFhsi s AL #F 9 LhEm|H 29 RC 3| 2,022 = *
1439 [+ K& [JLiFFEMH JLEER 10 WhEt | H 29 RC 3| 1, 764] HimE ¥
1440 (X A& [JeiFmEMAH JLEFRE 11 b=t [ H 29 RC 3| 2,022| HimE *
1441 [+ K& [JeiFREHh JLFR 12 b=t | H 29 RC 3| 1,764 I E *
1442 (X KRE [JeiFFEMH JLEER13 WhEt | 029 RC 3| 2, 022| FimtE ¥
1443 (£ KRE [JLiFFERHn JLEFR 14 WhEt | H 29 RC 3| 2, 022| it E m
1444 | AE  [dtsrfE Mt JEsFfE 15 WhEm [ H 29 RC 3| 2,022 FiE *
1425 [T AER |LEFRAEH, JLER 16 WhEth | H 29 RC 32,280 e .
1446 |+ KRE |RASHEM RARI LWhZEm [ H 29 RC 4] 3,651 #FimtE *
1447 [T XE |RASHEH RAA? Wh=th | H 29 RC 3| 2,593 FiiiE *
1448 [t X& |[RASHH REA3 LWhEt [ H 29 RC 3| 1, 664] FimE *
1449 (X K& [RAAHH EEY WhEt | H 29 RC 3] 1,909 Fhit = *
1450 [T A& [RASHH RAAD Wh=th | H 29 RC 3| 1,995 FimE *
1451 [ RE |RAAHM RAK6 LhEm | H 29 RC 3| 1,932| FrimiE *
1452 |T A& |[RASHH RAAT WhEt | H 29 RC 3| 1,995 #iieE *
1453 [T A& |[mYEHM mYET WhEt | H 29 RC 5| 2, 385 HitE ¥
1454 [T A& |[mYEMHM mYA?2 b=t [ H 29 RC 5| 3, 195| = *
1455 [+ A& [mYAHM mYAs b=t | H_29 RC 5| 3, 195| #ieE *
1456 [+ XRE [mYEHH mY &4 WhEt | H 29 RC 5| 3, 195| Fhit = m
1457 |[X A& |[FTXREMAH TXHET WhEt [ H 29 RC 5| 3,924 HimE *
1458 |[X A& [THRFMM FEFRFH WhEt [ H 29 S 3| 2,068 FimE *
1459 [+ K& [FHRFHMH TEFHRFH2 WhEt | H 29 S 3| 1,879 #iE *
1460 |+ AKE [22ISMth B2 151 WhEm [ H 29 W 3| 2, 349 FHE *
1461 |[EARE [EIEHMH ) b=t | H 29 W 3| 2,071 = *
1462 (X XRE& [EBEHFH DE B2 WhEt | H 29 RC 3 1,719 = *
1463 [+ A& [2kBEHHH UES B Wh=th | H 29 RC 42,237 FimiE *
1464 [T A& [7FBEHFEH E B4 WhEt [ H 29 RC 4] 2,237 HimE ¥
1465 [BET |[LWVhEBEEBRDE (ER=lRil WhEm|H 8 RC 3| 6,095 FriiE b II *
1466 [BEBF |[VWHhEBEARDORK KEE Wh=m|H_8 RC 2 = b I *
1467 |BET |FTEEBBENE WhEm| S 42 RC 4 1,252 A *
1468 [HET |NASKRATHBE NS WoEm| S 55 RC 6| 1,807] C—A [R2eK{E *
1469 | ZuAM SRR SRR Wh=m| S 46 RC 4 1,176] A |H29H1B *
1470 [ZEARATFFRES KE Wh=m|S 55 RC 5| 1,807 A _[Rizk& *
1471 | ZRAHR | HERFRES HEeE LWhZEm[ S 60 RC 4 1,626| FiimtE *
1472 [ZEAE|ME/NEFEES /N E WhEm[H 3 RC 41 1,097| FrmiE *
1473 | ZuAxR| Ry FERES £ 4 1EC Wh=m|H 4 RC 4 1,097 = *
1474 [Z=XE| A RBAGEES F R HA WhEm|H 9 RC 4] 1,366) FmE *
1475 [ZRARARAFRES F [z HB Wh=m|H 9 RC 4] 1,366] HimE *
1476 |[ZuAlERMEHES HE E BT Wh=m| H 15 RC 3| 1,025 i E *
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